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x (cm)
y (cm)



80

b. x y 80 80 
km

3.4 x y = 

a.

b.

x y x y x y

x y = y = x
y x

= 
80 = x y

80 = x y x y = 80

x (km/h) 80 40 20 10 5 ...
y (h) 1 2 4 8 16 ...

x y

a.
b. = x

y

a.
x (km/h) 80 40 20 10 5 ...

y (h) 1 2 4 8 16 ...
x y 80 80 80 80 80

y =
80 x

x (cm) 1 2 3 6 9 ...
y (cm) 18 ...

x y

x 24 18 12 8 6 ...
y ($) 6 8 12 18 24 ...

x y

1. 18 cm2

a.
b. x y

2

2.



3.4

5
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1. a. 18

b. x y = 18 y = 18 x

b. x y = 18 y = 18 x

2. a.

b. x y = 144 y = 144 x

a.
b. x y

80
b. x y

80
= 

80 = x y

80 = x y x y = 80

x y x y

3.4 x y = 

b.
2

80 = x y x y
= 80 b.

1.

1. a. 18

x (cm) 1 2 3 6 9 ...
y (cm) 18 9 6 3 2 ...

x y 18 18 18 18 18

x 24 18 12 8 6 ...
y ($) 6 8 12 18 24 ...

x y 144 144 144 144 144

x (km/h) 80 40 20 10 5 ...
y (h) 1 2 4 8 16 ...

x y 80 80 80 80 80

x (cm) 1 2 3 6 9 ...
y (cm) 18 9 6 3 2 ...

x y 18 18 18 18 18



3.5 

6

20 a = 120
a = 120 20 = 6

6

5

(km/h) 60 20
(h) 1 a

120 120

(km/h) 60 20
(h) 1 a

60 60 km/h 2 20 km
20 km/h

60 = 20

3

(km/h)
(h)

1. 200 8 32

8 32
( ) 200 a

2. 4 6 8

4 8
6 a

1 30 cm2 40
20 cm2

40 a
1 (cm2) 30 20



3.5

5

1. 1
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1.

2. 3

2. 3

60

2

32 a = 1, 600
a = 1, 600 32 = 50

50

32 a = 1, 600
a = 1, 600 32 = 50

50

8 32
( ) 200 a

50

60 60 km/h
2 20 km
20 km/h

a = 2 3 = 6

6

3.5 

2

1.

8 32
( ) 200 a

1, 600 1, 600
( )

(km/h) 60 20
(h) 2 a

120 120

20 a = 120

a = 120 20 = 6

6

(km/h)
(h) 

8 32
( ) 200 a

1, 600 1, 600



4. 6 4 12

b. 9

3.6

1.
a. a b c d

b.

2.
a. 30

3. a. 120 cm2

( )

1 2 3 4 5 ...
(m) 30 15 10 7.5 6 ...

1 2 3 4 5 ...
8 7 6 5 4 ...

b. = x y

x (cm)
y (cm)

6 12
( ) 4 a



5

2. a.

3. a. 120
120

30

b.

b. x y
120 cm2

x y = 120 y = 120 x

4. 1 

12 a = 24
a = 24 12 = 2

2

2

2

3.6 

b. 2 3 4 …

…

(m)

x (cm)
y (cm)

( )
( )



3.7 

x y
x y

a. 120
x y = 120

b. 9
y = 9 x

c. d.

5

a. 120 km

b.

c. 16 cm

x y

c.

x y
x y

a. 60 cm2 b.

x (km/h)
y ( )

x (m)
y (g)

x (cm)
y (cm)

x (km/h)
y ( )

x y

x (m)
y (g)

y x

x (cm)
y (cm)

y x
x y

x (cm) 1 2 3 4 ...
y (cm) 60 30 20 15 ...

x 10 11 12 13 ...
y 7 8 9 10 ...

x 150 300 450 600 ...
y ( ) 2 4 6 8 ... x 4 8 12 16 ...

y 12 6 4 3 ...



5

A B a b = c d a d = b c a
d b c d

A B a b = c d c d a b
d

4 2 8

48 g

3 18 g 8

1

A
B

(g)

A

B

( )



a.

x y = 48

3.7

d.c.

x y = 60

b.
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x y

a. 120 km

y = 9 x

a.
x y = 60

c. 16 cm

3.7 

3 x y

1 c.

x (cm)
y (cm)

x y

x
y ( )

y x

x
y

y x
x y

x
y

x y

x (km/h) 20 40 60 80 ...
y ( ) 6 3 2 1.5 ...

x y 120 120 120 120

x (m) 2 4 6 8 ...
y (g) 18 36 54 72 ...

y x 9 9 9 9

x (cm) 1 2 3 4 5 ...
y (cm) 7 6 5 4 3 ...

y x 7 3 1.66... 1 0.6
x y 7 12 15 16 15

x y = 120

b.



6

6 7

8

•
•
•

6

•
•

•



+ 
+ 

1
1
2
3

2
1

2
3
4
5

1 6

2 2



( 3 )

= π π 3.14 cm

1.3 π
= 3.14

π 3.14

( 5 )

1

1 2
4

1 2 1
10 cm 1/4 1

10 cm 1 3

1

2

1



2 8 16 16
1/4

2.2

16 19.11 16 = 305.76
306 cm2

1 10 cm 306 100 =
3.06 3



a. 

c. d. e. 

f. 

b. 

1.1 

g. 

6



a. 6 + 6 + 6 + 6 6 4
6 + 6 + 6 + 6 = 24 6 4 = 
24

= 24 cm

2

b. 6 + 7 + 10 + 14 = 37
6 + 7 + 10 + 14 = 37

= 37 cm

c. 9 + 5 + 9 + 5 9 2 + 5 2
9 + 5 + 9 + 5 = 28 9 2 + 5 2 = 28

= 28 cm

d. 5 + 5 + 5 + 5 5 4
5 + 5 + 5 + 5 = 20 5 4 = 20

= 20 cm

e. 4 + 8 + 4 + 8 4 2 + 8 2
4 + 8 + 4 + 8 = 24 4 2 + 8 2 = 24

= 24 cm

f. 8 + 8 + 8 8 3
8 + 8 + 8  = 24 8 3 = 24

= 24 cm

g.
•

1.1 



3.14
3.14

1.

3.14

2. 3.14

6

6

(cm) (cm) ( )
25 8

33.1 10.5
46.8 14.9

(cm) (cm) ( )
25 8 25 8 = 3.13

33.1 10.5 33.1 10.5 = 3.15
46.8 14.9 46.8 14.9 = 3.14

π

π
3 π 3.14

100 cm
314 cm



1.2

1233.14

1.2

3.14 cm π

1.

(cm) (cm) ( )

25 8 25 8 = 3.13
33.1 10.5 33.1 10.5 = 3.15
46.8 14.9 46.8 14.9 = 3.14



1.

2.
a. = 6 cm b. = 12 cm c. = 20 cm

1.3

3.14

10 cm

ℓ
a b = c a = b c

= 2

6



1.3

1. 

124

2. 

ℓ

1.

2.

1.3 π3.14

(a b = c) a = b c

π



2.1 

r
• r
• r

a. 10 cm 10 x 10 = 100 cm2

100 4 = 400 cm2

400 cm2

b. 10 cm
100 2 =

200 cm2

200 cm2

1.
5 cm cm2

5 cm cm2

5 cm cm2 cm2

2.
7 cm cm2

7 cm cm2

7 cm cm2 cm2

10 cm

6

6

b. a.



1

1 cm 10 cm

69
69 cm2

17
8.5

cm2

1 69 + 
8.5 = 77.5 cm2

77.5 4 = 310
310 cm

310 100 = 3.1

10 cm

16
3.9 9.8

2 = 19.11 cm2

16 19.11 16 = 305.76;
306 cm2

306 100 = 3.06



6

2.1
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a. b.
10 cm

a. = 10 10 = 100 cm2

100 4 400 cm2

b. = 50 cm2

50 4 200 cm2

10 cm 200 cm2

400 cm2

2.1 

1
1

b. a.

1.

5 cm 50 cm2

100 cm2
7 cm 98 cm2

196 cm2

7 cm 98 cm2

196 cm2

5 cm 50 cm2

100 cm2



2.2 

16

32

64

a.
b.

8

( )

6

a. 16 32 64



π

1. 3.14
a. = 10 cm b. = 10 cm

2. 3.14
a. = 4 cm b. = 6 cm

( π) 
π

b.

6

= x π
= 2 π

= ( 2 π) 2
= π

= π
= 3.14



2 π

= 2
= 2
= ( 2 π) 2
= π

6



2.2

6

126

b. = 5 5 3.14

2. a. = 4 4 3.14

b. = 3 3 3.14 

8

a.

b.
a. 

b.
( )

1. a. = π

b. = 5 5 3.14
= 78.5

78.5 cm2

= π
= 3.14

2.2 3.14

8

π

8

314 cm2

1. a. = π

314 cm2

78.5 cm2

50.24 cm2

28.26 cm2



2.3 

a.
b. 

b. = 10 10 3.14 − 5 5 3.14

235.5 cm2

a. 10 10 3.14 − 5 5 3.14

3

a. b.

b.



2.3

6
A
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a. 8 8 3.14 – 2 2 3.14

188.4 cm2

b. 10 10 3.14 − 6 6 3.14

200.96 cm2

a. 10 10 3.14 − 5 5 3.14
b. 10 10 3.14 − 5 5 3.14

235.5 cm2

a. = 64 3.14 – 4 3.14

188.4 cm2

b. 200.96 cm2

2.3 

a.

a. 
b. 



57 cm2

2.4 

b. a.

6



2.4

6

128

2 a.

= (10 10) – (10 10 3.14) 4

57 cm2

57 cm2

21.5 cm2

a. 

b. 57 cm2

2.4 

b.
a.

21.5 cm2



1. π

2.5 

2. A B

3.

4. 3 m 1 m
π



6

1.   l = π = 2 10 cm π
= 20π

20π cm

2. = 2
= 3.14 2

= 2 ( 2)
= 2 π 2

7 π cm2

4. ( + )              

2.5 

3.   

= – π 2

160.75 cm2

π – π



7

3 x

•

•

5 6 7

7

•
•

7

•
•

•



+ 

1

1

2
3
4

0

5
6
7

2
1

2
3
4

1 7



7

8 8
3

10 1.4
1.5 1.6

1.4
1.7

( 4 )

8

1

8

1

2



1.1 

7

7

7

1. 6

2.

6

a.

b.

1 2 3 4 5

(L) 10
(M) 6
(Mi) 7
(J) 8
(V) 4
(S) 7

1 6

2 4

3 3

4 7

5 5

9

7

8

10

6

8



7

1. a. 8
b.

2. 5

1.1

7

1. a. 8

b.

132

1.1 

1.

1.

1 2 3 4 5

(L) 10

(M) 6

(Mi) 7

(J) 8

(V) 4

(S) 7

9

7

8

10

6

8



1. 4 10 20 30 40

2.
$6 $6 $6 $5 $7 $

3.
80 65 75 80 50 70 42

1.2 

6

= 
7

7

(10 + 6 + 7 + 8 + 4 + 7) 6



1.2

133

1.

(10 + 20 + 30 + 40) 4

6

(10 + 6 + 7 + 8 + 4 + 7) 6

1. 

(10 + 20 + 30 + 40) 4

2. 
(6 + 6 + 6 + 5 + 7) 5

2. 
(6 + 6 + 6 + 5 + 7) 5

25

3.
(80 + 65 + 75 + 80 + 50 + 70 + 42) 7

7

7

25

6

1.2 

66 1 6

6



1.3 0

4

1

(6 + 2 + 5 + 4 + 7) 5 = 4.8

1

1. 5 4 6 7 3 0
2. 4 2 0 4 20

24 16
3. 5 3 0 5 0 2

(L) 6

(M) 2

(Mi) 5

(J) 0

(V) 4

(S) 7

0 0 0 0 5 4

(0 + 0 + 0 + 0 + 5 + 4) 6 = 1.5

1.5 1.5



1.3

134

1. (4 + 6 + 7 + 3 + 0) 5

2. (2 + 0 + 4 + 20 + 24 + 16) 6

(6 + 2 + 5 + 0 + 4 + 7) 6 = 4

4

3. :

2. :

11

7
(L) 6

(M) 2

(Mi) 5

(J) 0

(V) 4

(S) 7

4

4

11

2

1. :

1

1.3 



1.4 

2. 5 km 30

3. 2 10

5 8 5 = 40
40

1. 4 7

2 120

5 8

7

8 8

= 



1.4
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2. 5 30
5 30 = 150

150 km

30

1.

5 8

8
8

5 8 5 = 40
40

1. 7

4 7

28

4 7
4 7 = 28

28

3. 20

7

1.4 

8



1. 5 16 30 32 9 6

4 3 9
8 9 8 10 3

1.5 

19512. 4
45 3

60 40 55
4

9 5 = 45

9 1 1 9

3.
4 5 4 3 5

1 2 3 4 3
1 2 3 4 3

10



4 3
9

8 9 8
10 3

136

16 5 = 80

16 5 = 80 45 4 = 180

4 5 = 20

9 5 = 45

7

1.5 1

1

1 1

3 25

3

1.5

31 2 3 4
1 2 3 4



1

5 8 10

1.6 

8
8 5 = 40

10 40 +
10 = 50

50
5 = 10
10

10

7
1

7

5 8 1 2

8 5 = 40
40 + 2 = 42

5 + 1 = 6
42 6 = 7

1. 2 7 1 12
a. 5 6

1
b. 8 20 2 8

2. 7 1 12 8
20 8



1.6

78 6 = 13

1 13

1. a. 
12 6 = 72

6 72 + 6 = 78

78 6 = 13

1 13

b. 1 14

137

5 8
10

8 5 = 
40

10
40 + 10 = 50

50 5 = 10
10

10

72 + 6 = 78

20 78 + 20 = 92
1

98 7 = 14

1 14
2. 1 13

7

1.6 

12 6 = 72

6 72 + 6 = 78



1. 4 15 35 20 10

2. 6 4

3. 5 8 7 0 5 10

4. 4 15 27 28 2

5. 1 6 1 10

a. 4 6 1

b. 7 32 1 7

6.
a. 7 5 8 10 6 7

9 4

b. 1
5

7. 5 8 1
2

1.7 

(L) 4

(M) 8

(Mi) 3

(J) x

(V) 6



1.7 

1. (15 + 35 + 20 + 10) 4 2. 6 4

3. (8 + 7 + 0 + 5 + 10) 5 15 4 = 60

10 6 = 60
6 60 + 6 

= 66
66 6 = 11

1 11

60 6 = 66
32
66 + 32 = 98

1
98 7 = 14

1 14

6. a. (5 + 8 + 10 + 6 + 7 + 9 + 4) 7 5 5 = 25

7. 8 5 = 40

2 40 + 2 = 42

42 6 = 7

7

7

20 24

36

7 4



6

b.

2.1

1.

2. 2 6 1 5 5
3 4 1 2 5 5 6 2 1 2

a.

7

a.
b.

4 1

4 2

5 1

2 1

1



2.1

1.

a.

b.

b.

139

2. 2 5

7

2.1 

30
60
59
40

1 3
2 4
3 1
4 1
5 4
6 2

4 1

4 2

5 1

2 1

1

30

60

59

40



2.2 

7 12 14 15 16 10 13 9

1. 2.
200 ml 335 ml 250 ml 406 ml

500 ml 750 ml 1000 ml

13

13

7 12

12



2.2

1. 140 cm 150 cm 155 cm 158 cm 162 cm
155 cm

13
140

7 12

2. 200 ml 250 ml 335 ml 406 ml 500 ml 750 ml 1000 ml
406 ml

1. 140 cm 150 cm 155 cm 158 cm
162 cm

155 cm

7

2.2 

7 12 14 15 16
10 13 9

12



2.3 

1. 10 6 12 5 7 4 9 9

2. 33 32 31 36 33
31 34 35 36 30

3. 14 15 12 11 18 17

(110 + 150) 2 = 130

130 m

3 3

2

18 20

6 6
11 12 11 12

13 12
11

11 12 12 12 13

2
12 12

?

6 20
100 m 150 m 150 m 90 m 170 m 110 m

110 150

7
2



2.3

6 20
100 m

150 m 150 m 90 m 170 m 110 m

141

3 3

130 m

8

8

33

14.5

7

2.3 

2
2



2.4 

1.

2.

3. 5 1 8 2 7 5 8

4. cm 132 104 142 127 113 122 113 137 142 107 162

5. km2 756 km2 1, 653 km2

2, 074 km2 1, 447 km2 1, 184 km2 1, 226 km2

6. 6 10 7 12 8 10



2.4 

1. 2. 2 1
2 3 1

1 1

3

3.

5

4. 

5.
2

7

127

1, 336.5 km2

6.

7 8 10 10 12

10

756 km2

1, 184 km2

1, 226 km2

1, 447 km2

1, 653 km2

2, 074 km2



8

• (cm3 m3) 

•

11

•

5 6 7

8

•
•
•

8

•



+ 

1

1

2
3 (1)

4 (2)

5
6

( )

( )

7
8
9

10

1 8



( 10 )

2

( )

1 cm
1.2 1 cm

1.3 1 cm3

1.4

=

2
1. 2
2. ( )

1.7 1
(cm3 m3) (cm2 m2)

1.8 1.9 (
) ( )

1



?

1.1 

1 cm
?

9
3

•

• 1 cm
• 2



8

1.1
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a. (
32 ) 

b. (
15 ) 

?    

9

?

a.
( 32 ) 

1.1 2 1 cm

1 cm

2
( )



1 cm3

1 cm3 32 32 cm3

1 cm3

b. 1

1.2 

• 1 cm3

• 1 cm3

a. 32 cm3 b. 1 cm3

1 cm

!
1 cm

1 cm3

8

1 cm3



8

1.2

147

b. 1 cm3 12 12 cm3

a. 1 cm3 4 4 cm3

c. 1 cm 1 cm3

1 cm3

1 cm3 32

32 cm3

1 cm3

a. 1 cm3 4
4 cm3

b. 12 cm3

c. 1 cm3

1 cm3

1.2 

1 cm ( )

1 cm3 c. 2
1 cm



1.
a. 1 1 cm ?
b. ?
c. ?

2.
a. 1 1 cm ?
b. ?
c. ?

1.3 (1)

a. 1 1 cm ?

b. ?

c. ?

b. 4 cm 4
4

c. 1 6 4

1 1 
cm

= 1

24 cm3
1

1

4
3
2
1

a. 1 3 2 1
1 cm 3 2 = 6

6



1.3

1. a. 5 2 = 10

1. a. 5 2 = 10
b. 6 cm 6
c. 1 10

6

148

2. a. 4 3 = 12

b. 6 cm 6

b. 3

c. 1 10
6

60 cm3

c. 1 12
3

36 cm3

6
5
4
3
2
1

3
2
1

a. 1 1 cm
?

b. ?
c. ?
a.1

3 2 = 6

24 cm3

2
1

4
3

c. 1 6 4

1

8

1 ( )

1.3 (1 ) 

1 cm
( )

1
( )

( )

b. 4 cm
4

60 cm3

2. a. 4 3 = 12
b. 3
c. 1 12

3

36 cm3



a. ?
b. ?
c. ?

1.4 (2)

a. 3 2 = 6
6 cm2

24 cm3

b. 4 cm
4 cm

c. = 
6 4

1

1 m 100 cm

8

= 

= 

=



1.4

149

a. 
= 

90 cm3

c.
= 

a.
?

b. ?
c.

?
a. 3 2 = 6

6 cm2

b. 4 cm
4 cm

c. = 

24 cm3

8

125 cm3

b. 216 cm3 c. 90 cm3

d. 80 cm3 e. 58.8 cm3  

f.  3, 600 cm3

1.4 

(24 cm3)
1

a.
= 

125 cm3

b.
= 

216 cm3

d.
= 

80 cm3

e.
= 

58.8 cm3

3, 600 cm3

f. 100 cm 

= 



1.5 ( )

?

1
2

10 4 2 = 80
10 9 6 = 540 

80 + 540 = 620 cm3

620 cm3

10 4 8 = 320
10 5 6 = 300 

320 + 300 = 620 cm3

620 cm3

2
2

10 4 8 + 10 5 6 10 4 2 + 10 9 6

620 cm3
620 cm3



1.5

150

? 

2

320 + 300 = 620 cm3

620 cm3

10 4 8 = 320

10 5 6 = 300

2

1.5 

2
2 ( 1 )

(b. 4 )

8

9 3 4 = 108
5 3 4 = 60

108 + 60 = 168 cm3



990 cm3

?

1.6 ( )

10 10 10 − 1 10 1

8

990 cm3



1.6

8
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b. 2 cm 3 cm

a. 2 cm 8 cm

?

990 cm3

1.6 

b.

8 cm

a. 8 cm

2 cm

2 cm



1.7 

1. 1 m
?

• 1 m 1 m3

•
• 1 m3 = 1, 000, 000 cm3

(5 4) 3

60

(100 100) 100

1, 000, 000 cm3

m3 cm3

( ) 1 cm 1 m 1

• 1

• (
) 

2. 1 m (100 cm) 
?

3
2
1

(cm3 m3)



1.7
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a.

m3

b. 27 m3

c. 6 m3 6, 000, 000 cm3

b.

m3

6 m3

c. m3

50 cm 0.5 m

= 

cm3

1, 000, 000

1. 1 m
?

2. 1 m (100 cm) 
?

3
2
1

m3 cm3

a.

8

1.7 

2. 1 m
1 m3 1, 000, 000 cm3 ( )

cm3 c. m3

cm3

40 m3 27 m3

6, 000, 000 cm3

60

1, 000, 000 cm3

40 m3



a.
b.

a. 10 10 10

b. 1, 000 cm3 1

1, 000 cm3 = 1

1.8 

•
1, 000 cm3 = 1

• 1 = 1, 000 ml
1 cm3 = 1 ml

1 =

1, 000 cm3

10 cm
a. cm3 ?
b. 1

?

8



1.8

153

a. = 60 20 30

36, 000 cm3

a. = 60 20 30
= 36, 000

36, 000 cm3

b. 1, 000 cm3 = 1 a.
1,000

36

1 = 1, 000 ml

10 cm

a. cm3 ?
b. 1

?

b. 
1, 000 cm3 = 1

a. 

1, 000 cm3

8

( )

1.8 

1, 000 cm3

1, 000 ml (1, 000 cm3 = 1, 000 ml) 1 cm3 = 1 ml
a. b.

• ( )
•
•

( ) 1
10 cm ( )

( ) 1 (1, 000 ml)
1, 000 cm3 = 1

b. 1, 000 cm3 = 1 a.
1,000

36



1.9 

1 m3 ?

1 1 m3

10 cm 10 cm 10 cm

1. 15 m3 ?
2. 21,000 m3 ?
3. 28 m3 17, 000

?

1

1 m3 = 1, 000

• 1 m3 = 1, 000
• m3 1, 000 m3 1, 000

a. 12 m3 ?
1 m3 1, 000 12 m3

1, 000 12

12 m3 12, 000

b. 2, 000 m3 ?
1, 000 1 m3 2, 000

2, 000 1, 000

2 m3



3. 11,000

154

1 m3 ?

1 1 m3

10cm 10cm 10 cm

1 m3 = 1, 000

8
1.9

1. 1,000

15, 000

2. 1, 000

21 cm3

1.9 

1 cm
10 cm 10 cm

1 m

1. 1,000

2. 1, 000

15, 000

21 cm3

3. 28 m3 28 1, 000 = 28, 000 17, 000

11,000



1. ( 1 cm )

3. 

5.

a. m3

b. ?
c. 10

?

1 m3 = 1, 000, 000 cm3

2.

1.10 

8
4.

a. cm3

b. m3



?

2 cm

8

?



c. 60 10

60 10 = 6
6

1.10 

1. a. 1 cm3 6

6 cm3

b. 1 cm3 12

12 cm3

3. ( ) 2

c. 1 cm3 3

3 cm3

4. b. cm3

5. 

b. 60 cm = 0.6 m
= 3 0.6 5 = 9

9 m3

a. 50 cm = 0.5 m 30 cm = 0.3 m 40 cm = 0.4 m
= 0.5 0.3 0.4 = 0.06

0.06 m3

a. b. cm3

9 1, 000, 000 = 9, 000, 000
9, 000, 000 cm3

b. a. 1, 000
0.06 1, 000 = 60

60

2. a.

= 

24 cm3

2. b.

= 

175 cm3

c.

= 

512 cm3



9

9

•
•

5 6

9

•

•



1
1

2

3



3

v v2

v2

a a 0.84

b 0.84 b

a v2

b 0.7 v2

a 0.7

b

1



v 1 v = 0.84 m 21
30

1.1 

2. 15 20

1 v = 0.84 m 30

30 v = 25.2 m
25.2 m

1 v = 0.84 m 21 m

21 m = 25 v
30 v 25 v

a a 0.84

b 0.84 b

15
15 0.84 = 12.6

12.6 m

3.36 m
3.36 0.84 = 4

4 v

1. 



9

1. a. 0.84

1. a. 0.84

2. 1

15 2 + 20 2 = 70 v
70 0.84 = 58.8 m

58.8 m

2

15 0.84 = 12.6 m
20 0.84 = 16.8 m

12.6 2 + 16.8 2 = 58.8 m

58.8 m

1.1

158

2
21 m

21 0.84 = 25
21 m = 25 v
30 v 25 v

1.1 

100 100
1 v = 0.84 m

2 30
0.84 21 m 0.84

c. 0.84

b. 0.84

d. 0.84

1 v = 0.84 m 21
30

1
30

30 v = 25.2 m
25.2 m



1.

1.
= 0.84 0.84
= 0.70

2. 2, 000 v2

2. 1 v2 = 0.7 m2 2, 000 v2

2, 000 v2 = 1, 400 m2  

1,400 m2

•

1.2 

2. 1, 500 v2 $12, 600
a. m2

b. 1 m2

1 v2 1 v
1

1 v2 = 0.7 m2

a (v2)

b 0.7 v2

a 0.7

b

a.
b. cm2 m2

9

2.8 6 v2

4 v2 4.2 m2

1. 



9

1.2

159

1. a. 0.7

2. a. v2 ) 0.7
1, 500 0.7 = 1, 050

1 ,500 v2 = 1, 050 m2

1, 050 m2

c. 0.7

b. 0.7

d. 0.7

b. $12, 600

12, 600 1, 050 = 12
1 $12

12

a.

b.
cm2 m2

1. 0.84 cm

2. 2, 000 v2

1.
= 0.84 0.84

= 0.70
1 v2 = 0.7 m2

1.2 

4
cm2 m2 1. 0.84 m

1 v2 = 0.7 m2 2.
0.7

0.7 0.7

2. 1 v2 = 0.7 m2 2, 000 v2

0.7 2, 000 = 1, 400
 2,000 v2 = 1, 400 m2

1,400 m2

1. a. 0.7
10 0.7 = 7



2. 770 v2 350 v2

a.
b.

c. 63

1.

a. 25 b. 15

d. 126

1
100 10, 000 v2

1 = 10, 000 v2

1.3 



9

1.3 

1. a. 0.84
25 0.84 = 21

25 v = 21 m

21 m

2. a.

770 – 350 = 420
420 v2

420 v2

c. 0.84
63 0.84 = 75

63 m = 75 v

75 v

b. 0.84
15 0.84 = 12.6

15 v = 12.6 m

12.6 m

d. 0.84
126 0.84 = 150

126 m = 150 v

150 v

b. 0.7
420 0.7 = 294

420 v2 = 294 m2

294 m2





10

•
•

2

•
•
•

5 6 7

8

•
•
•

10

•
•
•



+ 

1

1

2
3
4
5
6
7

2

1

2
3
4
5
6

1 10

3 1
2



2

7

2

-
- 2
-

6

90 180 270 360

1 180

2

1

2

3



a. A B C D 6

b. A B C D 4

1.1 

b. 7

c. 5

d. 2

a. 4



10
A B C D

a. 6
b. 4
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A B C D
a. 4
b. 7

1.1

1.1

a. b.

a. b.

•
•



10

a. A B C D 7

E F G H

b. E F G H 2

1.2

a. 4 2

b. 3 3

a. 7
b. a. 2

2



1.2

a. 7
b. a. 2
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4 2

b. 

10

1.2

a.
b. b. a.

2



2

2
2

1.3

1 1 2



1.3

2

166

10

2

1.3 

2
2



a. B
b. BC
c. GF 3 cm BC
d. x

a. B G
b. BC GF
c. GF BC

BC 3 cm
d. x 98 98

1.4 

•
•
•
•

1.
a. G F D
b. AG CD

G B CD FE

10

2.
a. LK
b. IH
c. EF
d. x
e. y



1. a. G B F
C D E

b. AG AB CD
FE

167

a. B
b. BC
c. GF 3 cm

BC
d. x

a. G
b. GF
c. GF BC

BC 3 cm
d. x98 98

1.4

10

1.4 

c. d. 2
c. GF 3 cm

BC 3 cm d. x G
G 98

1. a. G B F C D E
b. AG AB CD FE

2. a. AB 2 cm LK 2 cm
b. DE 2 cm IH 2 cm
c. HG 2.8 cm EF 2.8 cm
d. C 90 x 90
e. H 45 y 45



2. r

1. r
a. BE
b. CF

r B F C E
a. BF CE
b. BH FH
c. CG EG

a. BF CE

BH FH

CG EG

b. BH FH

1.5 

• 2
• 2

c. CG EG



1.5

r
a. BF CE

b. BH FH

c. CG EG

168

1. a. b. DF

2

a.
b. BH FH
c. CG EG

1. a.
b. FD

2

2. 2 A C A B

10

2

1.5 

a. 90
2 a.

b. c. 1.
2.

BF CE
b. c.



1.6 

r

10

r



1.6
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r r
10

1.6 

r

2

2



1.

a. 5 3 b. 6 2

2.

3.

4. r

a. AB
b. AG
c. CD
d. x
e. y

1.7 

r



1.7 

2.

3. a. AG
b. AG 7.2 cm
c. CD 8.5 cm
d. x 34
e. y 45

2 10



A

2.1 

1.
A

90 180

180
360

2. O 360

270

10



2.1

1.
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90 180 270
180

90 270

10

90 180 270 360

2.1 90 180 270 360

- A
-
- A

A A ;

90
270



a.
b. O

a.

b.

O 180
180

2.2 

180

180

O



2.2

a.
b. O

a.

b. O 180

180

1. O
10

180

2.2 

a.
b.

180

O 180

172



O

a. A
b. AB

a. A 180
D

2.3 

• 180
•

b. B E AB DE

1. O

a. A E
b. D H
c. F B

10

2. O

a. DE 5.1 cm
b. CD 2.8 cm
c. x 67
d. y 56



O

a. A

b. AB
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a. 180
A D

D
b. B E

AB DE
DE

1. O

a. E
b. H
c. B

2. O

10

180

2.3 

180
b. A B

D E AB DE

c. d. x y
A E A E

180

2.3



O

a. A C B D

b. AO OC

a. A C B D

b. AO OC

O

2.4 

a. 2

O

b. E
H F

G

c. G I
H J

• 2
• 2

a.
b. E F
c. G H



2.4

174

1. 

a. O
b.

O
a. AC BD
b. AO OC

a. 2

O
b. E

H F
G

10

2

2.4 

180 O

a.
b.

a. 2

b. c.
;



O

2.5 

O
O A D

O

10



2.5
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O 1. O

a. 10

2.5

• 2
• 2

•
•



2.6 

2. O

4. O

3.

a.
b. G H

O

1. A



2.6 

2. O

3. a. O
b. G I 

H J

10

1. :90



a.
b.
c. 4

d.

3.1 

a.
b. a.
c.
d.

10

1 /



3.1
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1.a.
b. a.

c.
d.

10

3.1 

2

a.
b.
c. 4



d.

3.2 

d.

1.
a.
b.

2.
a.
b.

a.
b.

7

a.
b.

c.

•
•

a.
b.
c.



3.2
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1. 7

a. 7

b.

a.
b.
c.
d.

a.
b.

10

3.2 

5 6

d.

•
•



11

•
•

4

•
•

11

•

6



+ 
+ 

1

1
2
3
4
5

2 1
2

1 11

2 3



5

3
1

1 1

2

4 2

1

2



1.1 

1

6

6 6

A
C
J
M

4
1 3

A B C
D

6

4 1 3

1 2 3 4

2 3 4

1 2 3 4



11

1.1

6
6

182

1 2 3 4

A
B C

D

4
1 3

1.1 

1 2
1 3 1

•
•
•

1 2 3 4



1.2 

1. 1 2 3 3

2.

6 4 6 4 = 24
24

11

1

1 2 3 4 1 2 3 4

1 2 3 4 1 2 3 4

6 6

66



11

1.2

1 2 3
2 3 = 6
3 6

2.

1 2 3
2 3 = 6

6
183

A C J M

6 6

2 3 41 1 2 3 4

1 2 3 1 2 3 1 2 3
1 2

3
2 3 = 6

6

3 6

1 2
3

2 3 = 6

1.2 

1
1 1

x 6
4 6 4 = 24 24

1.

1 2 3 1 2 3 1 2 3

1 6 4
6 4 = 24
24

2. 



1.3 

4

a. 1

2

8

b.

2 9

1 2 3 1
3 1 3

1 2

1 32

1 32



11

a. 1 b.

4 24

1.3

1 3

1

4
a. 1

b. 1 6
4

4 24
184

1

8

1.3 

1 1 1
2 2

1 2

1 1

1 2 3 4 1 2 3 4 1 2 3 4 1 2 3 4

1 2 3 1 2 3

1 2 3 4



1. 2

2. 2

3

1.4 

3
2

2

3

2

2

11



1.4

1. 

3 2

R: V: A: 

1.
: : : 

3 6

2. 

3

185
3

11

1.4 

2

3 2
1 2



1.5 

3 1 A B C
2

a.

b. B

c. C

1 3 2

a.
b.

a.
3

2

b. 2 1
2



1.5

1 3
2

a.
b.

a. 
3

a. b. B
AB BC

2

c. C
AC BC

2

AB AC BC
3

b. 
2

3

a.

b. B
AB BC

2
c. C

AC BC
2
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A: R: V: 

11

1

1.5 

b.

b. 1

3



2.1 

a.
b.
c.

a.

b.

1. 3
a.
b.
c.

2. 1
a.
b.
c.

11

c. 2



2.1

187

:

:

:

2. a. 

b. 

:

11

c. 

2.1 

c.
2

1. a.  

b.  

c.  3

a.
b.

c.

d.

b.

c.

a.

b.

c.



a.

b. 6

c. 6

d.

e.

2.2 

1.

a.

b.

c.

2.



b. AB AC AD BA BC.BD CA CB CD DA DB DC
12

c.
3 4 = 12

12

2. E F G

2.2 

EF EG FG

E

B

G

b. 

d. 

:

:

111. a. A C D

e.

a. 1 2 3 4 5 6

c. 6
=           



+ 

1 1

2 1

3 1

1



2. >” <” =”

3.

4.

5.

6.

1.

1

2
3



13.

14.

15. 3 2.4 1

11.

12.

10.

7. 20 12 mcm

8. 60 24 MDC

9. 6 8

a. 0.6 0.1 b. 0.28 0.01



16.

19.

17.

18.



b. 20

7. 12 12, 24, 36, 48, 60, 72, 84, 96,
108, 120, ...

20 20, 40, 60, 80, 100, 120, 140, ...

12 20 60, 120,...

12 20 60

8. 24 1, 2, 3, 4, 6, 8, 12 24

60 1, 2, 3, 4, 5, 6, 10, 12, 15, 20, 30
60

24 60 1 2 3 4 6 12
24 60 12

c.  3.29 b.  3.48

9. 6 6, 12, 18, 24, 30, 36, 42, 48, 54,
60, ...

8 8, 16, 24, 32, 48, 56, 64, 72, 160,
180, ...

6 8 24, 48, ...

6 8 24
24

24



15. 2.4 3

0.8

b. 1, 305.1

c. 9.38

d. 125

b. 2.06

c. 50

d. 25

f. 0.36

g. 0.18

h. 0.16

f. 6.4

g. 0.25

h. 0.75

b. 3 1



3. 2

1.

a. 36 4

b. 3 5

c. 200 m 800 m

d. 6 m 8 m

e. 10 cm 2.5 cm

f. 1 10 1.5

2. 5 6

1

5 6
10 16

(m2) 32 48

A B
2, 000 2, 400

(m2) 500 800



6. 20 60 g 40

7. 200 4 16

b.

c. 10

d. 800 ml

4.

a. 3 120 km

b. 50 km 4

c. 70 km 280 km

5. 2

a.

(g)

1 2 3 4 ...
( ) 2 4 6 8 ...

1 3 6 12 ...
12 6 4 1 ...

1 2 3 4 ...
9 8 7 6 ...

1 2 4 8 ...
(ml) 800 400 200 100 ...



a

1. a.  36 4
36

4
a = 36 4 = 9

( )
9

c.  800 200
800 m

200 m
c = 800 200 = 4

( )

4

e.  10 2.5
10 cm

2.5
a = 10 2.5 = 4

4 cm

b.  3 5
9

5
b = 3 5 = 15

( )

15

d.  6 8
6 m

8 m
c = 6 8 = 0.75

0.75

f.  10 1.5
10

1.5
b = 10 1.5 = 15

15

3. 1

A 2, 000 500 = 4
B 2, 400 800 = 3

1 m2 4
A

A

b. 
= 

= 50 4
= 200

200 km

2. 1

5 10 32 = 0.3125
6 16 48 = 0.33 ...

1 m2 0.33 6

6

4. a.  
= 

= 120 3
= 40

40 km/h



5. a. 

c.

b.

d.

6. 2
20 40 2

120 g 50

c.  
= 

4

1 2 3 4
( ) 2 4 6 8

2 2 2 2

1 2 4 8
(ml) 800 400 200 100

800 800 800 800

(g)

7. 4 4
16



3.

1.

4. x

b. c.

2.

2

4
4
2



5.

6. r

9.
a. AB
b. BC

11.

7. O

10.

8.
a. IJ
b. EF
c. CD

2



3. 3
= 6 + 5 + 8 = 19

19 cm

4.
x 45

45

8. a. ML
b. BC
c. DE

9. a. ADHE BCGF
b. DC CG AB BF

10. 7 cm 6 cm
= 7 6 = 42

42 cm2 2 2 cm
3 cm

= 2 3 = 6

6 cm2

42 – 6 = 36
36 cm2

11.

44 cm3




